/_LL Sum of 230°,31° gnd Ao’ 9 189°
|
| Hence 4 it jo Dogeikle

S E———

i}, Sum -af Y40° 120" ond 30 i @’ it go° g0’ and 50" eym 8 130°

| Hence, it 18 nat pogeile ThenoPorre (+ {3 nat pacsible

1
T

i
1
|
{
|
i
|

(vﬂf 125°; Y0® ond 15° sum i3 18o°

| Thenefore it 1 pacsitle

AL Gine the thaoe angles of n teigngle agpe paual and thein Sum i I8C’

“TreceFare eoch angle will ko 82 =pee

2

2.6ince e Sum oF anold of a ypiangle i3 180°.

1B 4Bt iC= IR

FUB'+ 35°+ jc =180°

3120 4+ LC =180

A LC = 1R0°-130° =¢Q°





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



